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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name: Fluid Mechanics
Subject Code: 2TEO3FLM1 Branch: Diploma (Civil)
Semester: 3 Date: 11/03/2019 Time: 02:30 To 05:30 Marks: 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) In Bernoulli’s equation, kinetic energy is 1
@z (b) v*/ 2g ©p/w (d) none of the above

b) Density of mercury is 1
(@) 11.6 (b) 12.6 (c) 13.6 (d) 14.6

c) Slunit of density is 1
(@) kg/m2 (b) kg/m3 (c) m3 /kg (d) m2/kg

d) Specific weight = 1
(@ W/m (b)W/iv (c) m/W (dVIW

e) Slunit of viscosity is 1
(@ m2/N (b)kg/m2 (c) no unit (d)none of the above

f)  Choose the correct one 1
(a) p=pgh (b) p=pmh (c) g=pgh (d) none of the above

g) The specific weight of water is 1000 kg/m" 1
a) at normal pressure of 760 mm b) at 4°C temperature
c) at mean sea level d) all the above

h) In Sl system the unit of viscosity is 1
(a) m? /s (b)kg/m? (c) no unit (d)none of the above

i)  The tendency of a liquid surface to contract is due to the following property 1
a) cohesion b) adhesion C) viscosity d) surface tension

j)  The stress-strain relation of the newtonion fluid is 1
(@) linear b) parabolic c) hyperbolic d) inverse type

k) Compressibility = 1
(@ K (b)1/K (c)10/K (d)K/10
Where K= bulk modulus

[)  Fluid is said to be non-viscus if Reynold number is more than 1
(@) 20 (b)200 (c)2000 (d)20000

m) 1 poise = 1
(a) 100° Ns/m*>  (b) 0.1Ns/m? (c)10%m?s  (d) 5° Ns/m?

n) Density of water is 1
(@) 11.6 (b) 12.6 (c) 13.6 (d)none of the above
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-1

a)
b)

a)
b)

a)
b)

a)
b)

a)
b)

a)
b)

a)
b)

f)

9)

Attempt all questions (14)
Enlist all types of flow through pipes and explain any one with sketch. 7
Explain and derive Euler's equation of motion. 7
Attempt all questions (14)
Discuss Darcy - Weisbach formula and Chezy's formula in detail. 7
Enlist and explain types of fluid flow. 7
Attempt all questions (14)
Enlist and explain deferent types of loss of head in pipe. 7
Explain determination of metacentric height. 7
Attempt all questions (14)
Explain network of pipes and its hydraulic analysis by Hardy Cross method. 7
Discuss about hydrostatic Force on submerged plane and curved surfaces. 7
Attempt all questions (14)
Explain measurement of discharge through a pipe by venturimeter. 7
Enlist deferent types of pressure acting on fluid and discuss relation between them. 7
Attempt all questions (14)
Explain velocity measurement by pitot tube. 7
Compare with diagram solids, liquid, gas, vapor and explain coordinate systems. 7
Attempt all questions (14)
Discuss about vortex motion in detail. 7
Explain properties of fluids like density, specific weight, specific volume, specific 7
gravity, bulk modulus of elasticity, pressure, viscosity, surface tension and capillarity.
Attempt the following questions: (14)
wollell ol Yo Hi sSALls G = 1
(a)Z (b) v2/2g ©p/w (d) GUR oll Hiell 51&5 o8l
UL ofl dotll 1
(@) 11.6 (b) 12.6 (c) 13.6 (d) 14.6
tolcll of AsH 1
(a) kg/m2 (b) kg/m3 (c) m3 /kg (d) m2 / kg
Qyllre Yotcll = 1
(@) W/m (b)WIvV (c) m/W (dyv/w
RelOUCl of AU 1
(a) m2 /N (b)kg/m2 (c) no unit (d) GUR ol Higll 1€ o1&l
Y ude s 1
(a) p=pgh (b) p=pmh (c) g=pgh (d) GUR olt Higll 51¢5 o8l
will of RQARGS aoset 1000 kg/m™ aaL 1
Page 2 of 4




h)

)

K)

(a) at normal pressure of 760 mm (b) at 4°C temperature

(c) at mean sea level (d) all the above

slFANEs (QRSI{EL of s AlreH Ul Asn.

(2) m? /s (b)kg/m? (c) no unit (d) GUR ol Hiell 518 a8l
Yol oll AIU o] Sloglse ug ojplud 8.

(a) cohesion (b) adhesion (c) viscosity (d) surface tension
JelAet Yallél of RU-USGel Aol _ Qa B,

(@) linear (b) parabolic (c) hyperbolic (d) inverse type
s =

(a) K (b)1/K (©)10/K (d)K/10

Where K= bulk modulus

3UES dAnR ol A lat Al 5GBS A ollot (ArsU 53l
(a) 20 (b)200 (c)2000 (d)20000

L WS =

(a) 1002 Ns/m?  (b) 0.1Ns/m? (c) 10?m%s  (d) 5% Ns/m?
woll ol et
(a) 11.6 (b) 12.6 (c) 13.6 (d) GUR oll il 81&5 o8l

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

a)

b)

Attempt all questions
WU Hill Ul yalts oll Yst ofl WEl colldl A S As A vsld W

AHost Al

Aol oll GAR 85A™Yot o YHAIA WA cdlRcll.

Attempt all questions

SRAUL AUAU A A% oll YA ofl (Arctir ol Al 53A.
58S all A oll YA ofl AL tollcll wal UM,
Attempt all questions

WU HI Al el el AU oll ALEL st Wal UH LA

N2Actls GUY A calal ofl (52U At

Attempt all questions

WSU of Azas wal Ao a3l sl NS glRl ad elesQclls Aattcllallt Axestal.

UAHY Wl WA 5 AFAL UR ALl slsedls sl ol Al 2.
Attempt all questions

AotY3HleR glRl WU of sl Hiuclioll ylsal qAxestal.
SUBS UR ALl el EL 6L ofl ALEL vlotldl Wal AMoll a of ol ofl

(14)
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Q-7

Q-8

JENEERN
Attempt all questions
l2le 2ot gl Adt Hiuclell ylsau axestal.

tlot Yaltdl A clAn A wsld €131 AuuHRl 5 WAl slSlae AlreH UMl
Attempt all questions

ARsH el ofl (Arcttz Al uul 52
Yallgl ot ol BH ¥ dotdl , ([Qlke aoset, Qe A2, ves Wgen 2s
SARSRAE, eanl, wlloudl, Yrednl o SUlatlEl o questdl.
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